
BRACE BACK TO STRUCTURE
48" O.C.
VERT HANGER WIRE, 8" MAX
FROM END OF MET RUNNER,
CONT UP TO STRUC

APC CEILING
ASSEMBLY, AS SCHED
3/4" x 1-1/2" MET PERIMETER
MOULDING

DRYWALL
TERMINATION AT
SIM. CONDITION

APC CEILING AT
SIM. CONDITION

4"
2"

7"16"

10"

PARTN TYPE, AS SCHED

MIN 2-1/2" x 20GA @ 16" O.C. MET
STUDS COVE FRAMING, CONT
VERT STUD UP TO STRUC

MIN 2-1/2" x 20GA MET RUNNER
TRACK, ATTACH W/ MIN #8 SELF
TAP SM SCREWS @ 16" O.C.

5/8" GYP BD, FINISH INSIDE FACE
OF COVE AS SCHED
LIGHT FIXTURE, AS SCHED
MIN 2-1/2" x 20GA MET RUNNER
TRACK
5/8" GYP BD, SUSPENDED CEILING
ASSEMBLY

CONT 1/2" x 1/2" PERIMETER REVEAL
MOULDING, EACH SIDE OF COVE, ATTAC W/
MIN #8 SLEF TAP SM SCREWS @ 16" O.C.
COVE LIGHT TRIM, MOUNT TIGHT TO CEILING PANEL
CONT PARABOLIC LOUVER, AS SCHED
CONT MET SUPPORT BRACKET, ATTACH W/ MIN #8
SELF TAP SM SCREWS @ 16" O.C. WALL FINISH, AS
SCHED
WALL FINISH, AS SCHED

a

8"

6" UON
1/2"

ALIGN

HE
IG

HT
 V

AR
IE

S

WIDTH VARIES

4"PARTN
TYPE

AS
SCHED

4 1/2"8" MAX 4" 4"8" MAX
PARTN
TYPE

AS
SCHED3/8"

12 GA VERT HANGER WIRE @ 48"
OC, CONT UP TO STRUC
1-1/2" x 1.12 LB/FT @ 48" OC HOT
ROLLED STEEL CHANNEL MAIN
RUNNER

5/8" GYP BD CEILING
7/8" x 26GA @ 16"OC HAT CHNEL CROSS
FURRING, SADDLE TIE TO EA RUNNER
1" x 1" x 16GA CONT MET ANGLE

1' 
- 0

"

4"PARTN
TYPE

AS
SCHED

6" CFMF @ 16" OC MAX

(2) LAYERS 5/8" GYP BD
1 HR RATED CONST

SPRAY-ON FIREPROOFING,
WHERE OCCURS

MIN 12 GA LATERAL BRACING
WIRE, FASTEN W/ MIN (4)
TIGHT TURNS W/IN 1-1/2" DIST

MIN 12 GA VERT HANGER WIRE,
FASTEN W/ MIN (3) TIGHT TURNS
W/IN 1'-1/2" DIST

STEEL CLIP, MIN 1"x2"x1"Lx12GA,

COMPRESSION STRUT, AS SCHED
5/8" MAX

NOTE:
PROVIDE FASTENERS COMPLYING W/ UL EX-
2258 (TEST 1 OF 10 VERTICAL CLIPS @ 200
LB, TEST 1 OF 2 LATERAL CLIPS @ 440 LB)

METAL DECK W/ STRUC CONC FILL

VERT HANGER WIRE COMPRESSION STRUT
FASTENER: MIN 1/8" PDF, MIN 1-1/4"
EMBEDMENT, UL COMPLYING FASTENER
(HILTI CC27, OR EQ)

LATERAL BRACE FASTENER:
MIN 3/8" EB, MIN 2"
EMBEDMENT, UL COMPLYING
FASTENER (HILTI KB-11, OR EQ)

STEEL CLIP, MIN 1"x2"X1"Lx12GA

45°

OPTIONAL VERT HANGER WIRE
ATTACHMENT: WIRE-TIE TO MIN #3
REBAR x 18"L W/ (3) WRAPS
AROUND REBAR AND (1) AROUND
WIRE

STEEL CLIP, MIN 1"x2"x1"Lx12GA, ATTACH
W/ MIN (2) #10 SELF TAP SM SCREWS
MIN 12 GA VERT HANGER WIRE, FASTEN
W/ MIN (3) TIGHT TURNS W/IN 1-1/2" DIST
COMPRESSION STRUT, AS SCHED, ATTACH
W/ MIN (2) #10 SELF TAP SM SCREWS

EXISTING METAL DECK
ROOF TO REMAIN
METAL DECK, MIN 20 GA
MIN 12 GA LATERAL
BRACING WIRE, FASTEN
W/ MIN (4) TIGHT TURNS
W/IN 1-1/2" DIST

NOTE:
PROVIDE FASTENERS COMPLYING W/ UL EX-
2258 (TEST 1 OF 10 VERTICAL CLIPS @ 200
LB, TEST 1 OF 2 LATERAL CLIPS @ 440 LB)

STEEL CLIP, MIN 4"x4"x12 GA,
ATTACH W/ MIN (2) #10 SELF TAP SM
SCREWS (LATERAL LOAD IN SHEAR)

SPRAY-ON FIREPROOFING,
WHERE OCCURS

5/8" MAX

45°

45°

5/8" MAX

STRUCTURAL STEEL BEAM SPRAY-ON FIREPROOFING,
WHERE OCCURS

MIN 12 GA LATERAL BRACING
WIRE, FASTEN W/ MIN (4)
TIGHT TURNS W/IN 1-1/2" DIST

STEEL CLIP, MIN 1"x2"x1"Lx12 GA,
ATTACH W/ MIN 1/8" PDF, 1/2"
EMBEDMENT (HILTI CC27, OR EQ)

STEEL CLIP, MIN 1"x2"x1"Lx12 GA,
ATTACH W/ MIN 1/8" PDF, 1/2"
EMBEDMENT (HILTI CC27, OR EQ)

MIN 12 GA VERT HANGER WIRE,
FASTEN W/ MIN (3) TIGHT TURNS
W/IN 1'-1/2" DIST

COMPRESSION STRUT, AS SCHED,
ATTACH W/ MIN 1/8" PDF, 1/2"
EMBEDMENT (HILTI CC27, OR EQ)

NOTE:
PROVIDE FASTENERS COMPLYING
W/ UL EX-2258 (TEST 1 OF 10 VERT
CLIPS @ 200 LB, TEST 1 OF 2
LATERAL CLIPS @ 440 LB)

45° MIN 3/16" BENT STEEL CLIP, ATTACH W/
MIN 1/2" EB, 2-1/4" EMBEDMENT
STEEL CHANNEL LATERAL BRACE, MIN (1) @
36" OC PERP TO STEEL SUPPORT CHANNEL
AND (1) PARALLEL TO STEEL SUPPORT
CHANNEL, ATTACH TO SUPPORT CHANNEL
W/ 3/16" BENT STEEL CLIP ( MIN UNISRTRUT
P1000, OR EQ) ORIENT TOWARD CAVITY
WALL. COORD W/ MECH. CONTRACTOR
CONT STEEL SUPPORT CHANNEL
ASSEMBLY (MIN UNISTRUT P5500, OR EQ)
CEILING ASSEMBLY AS SCHED
TOILET PARTN ANCHOR BOLTS

BOTTOM OF STUC
MIN 3/16"x 3" STEEL U CLIP
@ EA HANGER ROD,
ATTACH W/ MIN (2) 1/2" EB,
2-1/4" EMBEDMENT
MIN 3/8" DIA STEEL ALL
THREAD HANGER ROD
@ 36" OC, MIN (2) PER
SUPPORT CHANNEL

METAL TOILET PARTN,
AS SCHED

METAL DECK ROOF

METAL DECK W/ CONC FILL

METAL DECK, MIN 20 GA
SPRAY-ON FIREPROOFING,
WHERE OCCURS
MIN 6" x 12" x 12GA STEEL
ANCHOR STRAP, SPAN MIN (2)
DECK FLUTES, ATTACH W/ MIN (4)
#10 SELF TAP SM SCREWS
DEVICE/LIGHT JUNCTION BOX,
ATTACH W/ MIN (2) #10 SELF TAP
SM SCREWS (MAX LOAD 200 LB)

METAL DECK, W/ STRUC CONC FILL
SPRAY-ON FIREPROOFING,
WHERE OCCURS
MIN 6"x12"x12GA STEEL ANCHOR
STRAP, ATTACH W/ MIN (2) 1/8" PDF,
W/ MIN 1-1/4" EMBEDMENT (HILTI
DS32, OR EQ)
DEVICE/LIGHT JUNCTION BOX, ATTACH
W/ MIN (2) #10 SELF TAP SM SCREWS
(MAX LOAD 200 LB)

45
°

NOTE:
PROVIDE FASTENERS COMPLYING W/ UL EX-2258
(TEST 1 0F 10 VERT CLIPS @ 200 LB, TEST 1 OF 2
LATERAL CLIPS @ 440 LB)

ELEC JUNCTION BOX &
SUSPENDED LIGHT/EQUIP
ASSEMBLY. ATTACH W/ MIN (2) #10
SELF TAP SM SCREWS (MAX LOAD
200 LB)

MIN 12 GA VERT
HANGER WIRE, FASTEN
W/ MIN (3) TIGHT TURNS
W/IN 1'-1/2" DIST

MIN 3/16"x 3" STEEL U
CLIP & 3/8" DIA STEEL ALL
THREAD ROD, ATTACH W/
MIN (2) #10 SELF TAP SM
SCREWS (MAX LOAD 200
LB)

STEEL TRAPEZE ASSEMBLY,
AS SCHED

STEEL TRAPEZE ASSEMBLY, AS SCHED
(MIN UNISTRUT P1001, OR EQ)

MIN 12 GA LATERAL BRACING WIRE
STEEL CLIP, OR COMPRESSION
STRUT, ATTACH W/ MIN (2) #10 SELF
TAP SM SCREWS

B.O. DECK
31' - 7"

MTL. DECKING

EXIST'G CONC. PANEL

STL. STRUCT.

W14

FIRE RATED
2 LAYERS TYPE X GWB
ON 4" MTL. STUDS @
12" O.C.

CORRIDOR 230

+/- 28' - 7"

1' 
- 7

"

CORRIDOR 236

DWG. NO

SHEET NO.PROJECT  NO.

PROJECT  ID. WR

CODE IDENT. NO. SIZE
F

NATIONAL  AERONAUTICS  &  SPACE  ADMINISTRATION

LYNDON  B.  JOHNSON  SPACE  CENTER  HOUSTON,  TEXAS

SIGNATURES DATE

DR. ENG

APPRCH

REV

DISCP

PE

APPR

REVISION DATE DESCRIPTION

of

A-29-33

CEILING DETAILS

11

 1 1/2" = 1'-0"11 33

TYP. FURRDOWN/BULKHEAD1
 1 1/2" = 1'-0"11 33

GYP BD CLG-GYP BD COVE LIGHT
DETAIL2

 1 1/2" = 1'-0"3333

GYP BD CEILING SUSPENSION DETAIL3
 1 1/2" = 1'-0"3333

GYP BD CEILING DETAIL4

 1 1/2" = 1'-0"3333

TYP. WIRE ATTACHMENT-METAL DECK5
 1 1/2" = 1'-0"3333

TYP. WIRE ATTACHMENT-METAL DECK
ROOF6

 1 1/2" = 1'-0"3333

TYP. WIRE ATTACHMENT-STEEL BEAM7

 1 1/2" = 1'-0"3333

TOILET PARTITION SUSPENSION DETAIL8
 1 1/2" = 1'-0"3333

TYP. ELEC DEVICE ATTACHMENT-METAL
DECK DETAIL9

 1 1/2" = 1'-0"3333

TYP. TRAPEZE CONNECTIONS DETAIL10

0 12 IN3 6

0 12 IN3 6

0 12 IN3 6 0 12 IN3 6 0 12 IN3 6

0 12 IN3 6 0 12 IN3 6 0 12 IN3 6

0 12 IN3 6 0 12 IN3 6

AT

T
S

XETE FO

S
A

R
EX

KI

RB
YCRISW

ELL

17 9 3 6

R
EG

IS

TE
RED ARCHITEC

T

4/29/08 ISSUE FOR BID AND CONSTRUCTION

 1 1/2" = 1'-0"7B 33

CEILING DETAIL CORR. 230 & 23611

0 24 IN6 12

1 1

5/23/08 AMENDMENT 31


